PACKAGING EQUIPMENT
COMPONENTS & SUPPLIES
TECHNICAL SERVICES

INre3-reCH

CROSS-GUT KNIFE ASSEMBLY
COMPLETE ASSEMBLY OR ANY COMPONENTS

MISSING PARTS? FIND THEM BELOW AND SAVE TODAY
Assembly List - Cross cut Knife Assembly (Chain Driven)
Web Width Sizes Available

(285mm, 320mm,355mm, 420mm, 459mm)

COMPONENT PART NUMBERS IN RED WILL VARY - DEPENDING ON WEB WIDTH

ITEM ID COMPONMENT ID QTY NEEDED
09-DIN912 M8X20 |SOCKET HEAD CAP SCREW (5.5.) 2.00
09-DIN439 M12 JAM NUT M12 (5.5.) 3.00
01-P30101 Blade - X-Cut R-Series 25mm 1.00
01-P30103 MASTER LINK FOR CROS5 CUT 2.00
01-P30104 Chain - Cross Cut 3.00
01-P30106 CROSS CUT IDLER SPROCKET 1.00
01-P30111 Gear Rack 110mm long {10mm) 1.00
01-P30113 Cross cut - Threaded bolt 1.00
01-P30232 Hose Stem - Restricted 2.00
01-P30470 Star Knob 12 x 63mm 1.00
01-P30485 Hose Clamp 512 A4.00
01-P30697 CROSS CUT 16.5625in R 1.00
01-P30746 Stopper Bolt 12 x 85mm 2.00
01-P30546 Half Link for Cross Cut Chain 1.00
01-P30248 Hose - 6mm |.D. Clear w/ Nylon 5.00
01-P30858 FLOW CONTROL (PC2-K) 2.00
01-P30922 Cross Cut - Gear Rack Guard 1.00
09-DIN963 M6X20 |SLOTTED FLAT HEAD MACHINE SCREW (5.5.) 2.00
01-P30105 CROSS CUT SPROCKET W/GEAR 1.00
12-KNIFE BODY Knife Bodies - X-Cut 1.00
01-P31248 Cyl. for 375ww X-Cut 1.00

For Prices Gontact us Today

800-722-7761

carterl@inter-techsupplies.com

802 E. Fairmont St. Allentown, Pa 18109 FAX: 610-435-5999






